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Write out the “blob diagram” that clearly shows where the domain of A, O(A) R(A
N(AT), and N(A) reside, and indicate the dimensionality of each of these 5 vector spaces

NN »,”,1 — N
Dnmp‘u = lM = c&l!“' Cﬁé":é : Lo CMC/”\"}) Abpa Uz(ﬁ\ b e TR

R

@%Wm

NIAT) = § 2
e o I
—— \]tDu Mf\*“ “'Q\% { = J
LLEJ (c) When solving Az = b for any RIIS b € R®, use the Fredholm Alternative to argue how
many solutions you expect for get. Hint: there is only one possibility
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N matrix that
projects 2 x 1 vectors z onto C'(A). You will find that that the method fails. At which
point does the method fail? SHOW YOUR WORK!

. "r‘/fe\ P27 { " AT 1t~ }
m\w- JM)\j b cledlade C= A A AT } (ATA
CA\(.J\L&&J&&‘«. hoeosce AA = .S ’& C o

2.
o

l

AWy GE e 15E colvmn {

1 1 2 °

; Nou-fa]o@sm_cb‘_f 'kgio}og _;__DAQ;\’({S(A- ==
""‘O SeC AL CD Ve

660 :@}Fﬁé\ e MO l\f\\w\‘svbis?h
b e) What s the diflerence in the 4 fundamental spaces for the A matrix 10 #1C (where you
w could find the projection matrix) and the A matrix in #2d that could explain why you
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could not find the projection matrix in #2d?

/ﬂ( NS ’QF:L fp\a_j N%> ;ég___} o e IMLS }\JCAB = ¥~



